Name(s) ____________________________

BA 352: ICE 1
1) Determine the completion time, critical path, and slack times for the following CPM network. 
	Act
	I.P.
	Time
	Slack

	A
	--
	4
	

	B
	--
	9
	

	C
	A
	12
	

	D
	A
	4
	

	E
	B, D
	7
	

	F
	C
	4
	

	G
	E
	6
	

	H
	E
	10
	

	I
	F, G
	2
	

	J
	H, I
	5
	



Completion Time 
____________


Critical Path

____________

If you could (magically) cut one of activity times in half, with the goal of decreasing the overall completion time, which activity time would you cut in half and what would the new project completion time be?

2) 
Determine the completion time, critical path, and slack times for the following CPM network. 

Act
I.P.
Time
Slack
	

	

	

	

	

	

	

	

	

	


A
--
   5
Completion Time:
______________________

B
--
 12
C
--
 13
Critical Path:

___________

D
A
 12




E
A
   5
F
D
   3

G
E,B
   8

H
C
 10
I
F
   4

J
D,G
   7

Attempt to solve parts a) – c).  For each part, start from the original answer above.  Good luck!
a) You earn $500 for each day that you decrease the overall completion time.  It costs $200 per day to decrease an activity time by one day (with no limit on how many days).  Which activity times should you decrease in order to maximize net revenue, what is the maximum net revenue and what is your new completion time?
b) You can (magically) cut any four activity times in half with the goal of decreasing overall completion time.  Which four do you cut and what is the new completion time?

c) You can decrease any activity by one day by adding two days to another activity – fractions OK as long as they follow the 1:2 ratio.  (This is not magical.  It’s done by reassigning resources.)  How should you reassign resources to achieve the minimum completion time and what is this new completion time?
